
A)

1) (–5)-10 .  (–5)15 3) (1.4)-12 .  (1.4)5

4) 5) (–13)0 .  (–13)-19 6) 8-14 .   8-4

Find the value of .B)

C)
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Name :

1) Which of the following equals (–19)-12 .  (–19)4?

i) (–19)-8 ii) (–19)8 iii) (–19)17 iv) (–19)16

2) Find the value of , if (–4.5)   .  (–4.5)9 = (–4.5)11.
�

1) 10    .  10-9 = 1011 =

  =

�
2)

7 .  (5.6)7 = (5.6)14

  =

3) (–2.9)-13 .  (–2.9)   = (–2.9)-5

  =

�
4)

  =

5) (–20)16 .  (–20)   = (–20)-3

  =

�
6) 11   .  116 = 1116

  =

-
�

i) 20 ii) –5 iii) –3 iv) 2

Use the product rule to rewrite each expression as a single exponent.

2) .
-64

5
-94

5

-�
.–

97
6

–
37

6

.– 8
7

–
-158

7
–

-108
7

T1S1
Exponents - Product Rule



A)

1) (–5)-10 .  (–5)15 3) (1.4)-12 .  (1.4)5

4) 5) (–13)0 .  (–13)-19 6) 8-14 .   8-4

(1.4)-7

8-18

Find the value of .B)

C)

Printable Worksheets @ www.mathworksheets4kids.com

Name :
Answer key

1) Which of the following equals (–19)-12 .  (–19)4?

i) (–19)-8 ii) (–19)8 iii) (–19)17 iv) (–19)16

2) Find the value of , if (–4.5)   .  (–4.5)9 = (–4.5)11.
�

1) 10    .  10-9 = 1011 =

  =

�
2)

7 .  (5.6)7 = (5.6)14

  =

3) (–2.9)-13 .  (–2.9)   = (–2.9)-5

  =

�
4)

  =

20

5.6

5) (–20)16 .  (–20)   = (–20)-3

  =

�
–19

–5

6) 11   .  116 = 1116

  =

-
� 8

–10

i) 20 ii) –5 iii) –3 iv) 2

Use the product rule to rewrite each expression as a single exponent.

2)

(−13)-19

4
5

-15
(−5)5

7
6

12−

.
-64

5
-94

5

-�
.–

97
6

–
37

6

.– 8
7

–
-158

7
–

-108
7

T1S1Exponents - Product Rule



A)

1) (2.5)9 .  (2.5)10 2) (–12)-8 .  (–12)-5 3) 96 .  9-17

4) 5) 6) (–3.6)3 .  (–3.6)5

Find the value of .B)

C)
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Name :

1) Find the value of , if  4   .  47 = 418.

i) 13 ii) –12 iii) 11 iv) 8

2) Which of the following equals ?

�

1)

  =

2) (5.4)  .  (5.4)15 = (5.4)19

  =

3)

  =

(–7)-10 .  (–7)    = (–7)-4-
�

4) (–6.8)   .  (–6.8)0 = (–6.8)9

  =

�
5)

  =

5 .  24 = 29

6)

  =

i) ii) iii) iv)

Use the product rule to rewrite each expression as a single exponent.

14-16 .  14-4

�
.

195
9

-95
9

=
-�

. – 6
5

–
126

5
–

56
5

=

�
.1

2
81

2
51

2

.
172

7

72
7

-272
7

272
7

-72
7

-102
7

T1S2
Exponents - Product Rule



A)

1) (2.5)9 .  (2.5)10 2) (–12)-8 .  (–12)-5 3) 96 .  9-17

(2.5)19

14-20

4) 5) 6) (–3.6)3 .  (–3.6)5

9-11

(–3.6)8

Find the value of .B)

C)

Printable Worksheets @ www.mathworksheets4kids.com

Name :
Answer key

1) Find the value of , if  4   .  47 = 418.

i) 13 ii) –12 iii) 11 iv) 8

2) Which of the following equals ?

�

1)

  =

2) (5.4)  .  (5.4)15 = (5.4)19

  =

3)

  =

(–7)-10 .  (–7)    = (–7)-4-
�

4) (–6.8)   .  (–6.8)0 = (–6.8)9

  =

� –7

9

5)

  =

5 .  24 = 29

4

–6

6)

  =

2

–3

i) ii) iii) iv)

Use the product rule to rewrite each expression as a single exponent.

14-16 .  14-4

�
.

195
9

-95
9

(–12)-13

5
9

10

=
-�

. – 6
5

–
126

5
–

56
5

=

�
.1

2
81

2
51

2

.
172

7

72
7

-272
7

272
7

-72
7

-102
7

T1S2Exponents - Product Rule



A)

1) (–3)-8 .  (–3)-82)

6-7 .  62

3)

4) 5) 6)

(–4.1)3 .  (–4.1)5– –

Find the value of .B)

C)

Printable Worksheets @ www.mathworksheets4kids.com

Name :

1) Which of the following equals ?

i) ii) iii) iv)

2) Find the value of , if  12    .  123 = 12-17.
-

�

1) (9.2)    .  (9.2)7 = (9.2)9

  =

-
�

2)

  =

3)

  =

(–8.7)-18 .  (–8.7)   = (–8.7)-8
�

4) 1610 .   4  = 1614

  =

5)

  =

(–15)13 .  (–15)     =  (–15)6
� �

6)

  =

7   .  72  = 7 6
�

i) 14 ii) –16 iii) 20 iv) –18

Use the product rule to rewrite each expression as a single exponent.

17-4 .  17-11

-151
8

-151
4

151
4

-152
4

.
122

9
62

9

.
91

8
-51

8

.
01

4
-151

4

=

�
. 7

5
57

5
87

5

T1S3
Exponents - Product Rule



A)

1) (–3)-8 .  (–3)-82)

6-7 .  62

3)

4) 5) 6)

(–4.1)3 .  (–4.1)5– –

17-15

(–4.1)8

Find the value of .B)

C)

Printable Worksheets @ www.mathworksheets4kids.com

Name :
Answer key

1) Which of the following equals ?

i) ii) iii) iv)

2) Find the value of , if  12    .  123 = 12-17.
-

�

1) (9.2)    .  (9.2)7 = (9.2)9

  =

-
�

2)

  =

3)

  =

(–8.7)-18 .  (–8.7)   = (–8.7)-8
�

4) 1610 .   4  = 1614

  =

–2

16

5)

  =

(–15)13 .  (–15)     =  (–15)6
� �4

7

6)

  =

7   .  72  = 7 6
�

10

–3

i) 14 ii) –16 iii) 20 iv) –18

Use the product rule to rewrite each expression as a single exponent.

17-4 .  17-11

-151
8

-151
4

151
4

-152
4

.
122

9
62

9

6-5

– 2
9

18

.
91

8
-51

8

.
01

4
-151

4

(–3)-16

1
8

4

=

�
. 7

5
57

5
87

5

T1S3Exponents - Product Rule


